o(d dxy) (cm)

d@c%

Rati

0.95

=
__||||+||||_

H
[rrr |_*_| LA

+##+++¢&+##¢+ﬁ#¢ﬁ#+¢w

—3—2—'1(')123

o(d dz) (cm)

Rati

0.954

DU P NS IO PO

=

I I

—=— DQM_mkFit_TToriginal
—e— DQM_mkFit_TT_JanUpdate-noErr
—— DQM_mkFit_TT_JanUpdate-noErrlH

mline)

..........................................................................

##*++++*$+‘*#+#ﬁ+*+ﬁ+#’*+++++++++i

=3 —i2 51 6 i é é
TP ® (PCA to beamline)

o p_/p.)

Ratios

0.95

S (U N N DU TN

: s, : : :
. - L e #‘ .
g T 'ﬂ"*#*"#"' +e v

i**#**#**ﬁ**%iﬁ* i#¢++t-+¢i+

=3 —i2 —'1 6 i é é
TP ® (PCA to beamline)

H




	Contents
	Page 1


